
3-Digit Numbers and Tens

Complete the place value grids to show the answers to the calculations below.

Choose the correct missing number which has added and subtracted the same 

multiple of ten.

Tina and Jacob are trying to solve the missing number that will fit both the 

calculations below.

Who is correct? Explain your answer.
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Homework/Extension
3-Digit Numbers and Tens

Expected

4. A. 3 hundreds, 2 tens and 6 ones; B. 7 hundreds, 8 tens and 9 ones. 

5. A. 465

6. Tina is correct because 7 tens – 3 tens = 4 tens and 6 tens + 3 tens = 9 tens.


